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1) Iogs(x+1)=%

3) log, x+log, (x—6) =2
5) Iog(2x—5)2:0
7) 10g,,,,3=2

9) x*:?_g

11) (x+2)log(x-1)=0

1 2 n
13) log=+log=+---+log——=-2
) g2 g3 gn+1

15) logsinx+logcosx+log2=0
17) X'+ Z16

19) 16" =8

21) log~/x =/log x

23) logx*+log(-x)=3 ; (x<0)

25) 5'%9* 4+ x'%° =50
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2) log,(t+2)+log,(t—2)=1

4) log, (x*-1)=-1

10

6) log 2 1

10) log(x+1)+log(x—1)=1

12) log, (| x+1]-2)=-2

14) 1+Iogzsinx+(logzsinx)2+---:§
16) log(x—9)+2log+/2x—1=2

18) 7'9% =98 — x'™’

20) 3x'*%% +2"%* —64

22) (logx)’ +log x+1=

log X
10

24) X2Iogx(x—2) -4

26) 5Iogx _ 3Iog x-1 — 3Iog x+1 5log x-1
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5100: x _ 21!09 2% 28) X'OW; =10 ,Xe (0,1)
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29) logy x = + log, (4x +15) 30) [glogg 27J|092(3+X)—|0g2(7><+9)=|09816—§
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Y i
Xy =3

32) {%W =

log (x+y) =1log 40 —log (x - )
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